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1. Introduction
This paper is related to the discussion paper of C1-083931.
2. Reason for Change
In TS 23.402, it is possible that the UE handover from a PMIPv6 network to a network which doesn’t support network based mobility by using DSMIPv6 as the mobility management protocol, and vice versa. In this case, the UE PDN Address shall keep unchanged during handover. 
The details of DSMIPv6 and PMIPv6 interworking are discussed in C1-083931.

3. Conclusions

To support handover between DSMIPv6 domain and PMIPv6 domain, interactions between the HA and the LMA are needed.
4. Proposal

It is proposed to agree the following changes to 3GPP TS <24.303 v1.2.0>.
* * * First Change * * * *

Annex X  (Normative) Handover between DSMIPv6 domain and PMIPv6 domain
For handover between DSMIPv6 domain and PMIPv6 domain and the anchor is a HA/LMA combo node, the UE IP address shall be preserved. 

When the UE handover from PMIPv6 domain to DSMIPv6 domain, and if the IPSec tunnel between the UE and the HA has not been established, the UE shall be able to use the HNP obtained in PMIPv6 domain as the HNP for DSMIPv6, and set up the child SA with the HNP as selector for the protection of DSMIPv6 signalling.
When the UE handover from DSMIPv6 domain to PMIPv6 domain, the UE shall deregister from DSMIPv6 domain after detecting that the PMIPv6 domain is its home link.

To support handover between DSMIPv6 domain and PMIPv6 domain, the HA shall satisfy the following requirements:
1. The HA shall be able to return the HNP of DSMIPv6 BCE matching the <MN-ID and APN> to LMA upon request.

2. The HA shall be able to set a matched DSMIPv6 BCE to inactive state upon request by LMA to disable downlink routing of the DSMIPv6 BCE.

3. The HA shall be able to request the LMA to set a BCE to inactive state.
NOTE: 
How these requirements are satisfied is up to implementation. As for example, an implementation can have one combined BCE for both LMA and HA, or the LMA and HA can provide primitives for interaction.
